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Q:1 In the following questions, a statement is
divided into 5 different segments. Part (A) in the
sentence is fixed and other parts may not be in the
correct sequence. You have to rearrange the other
parts of the sentence to make it contextually and
grammatically correct and if the correct option of
the sequence doesn't match any of the given
sequence, mark (5) i.e., 'None of the above' as
your answer.

In a major development, India is set to launch an
ambitious ‘Deep Ocean Mission’ which would
explore minerals, (A)/ Department of
Biotechnology, Indian Space Research
Organisation (ISRO), Council for Scientific and
Industrial Research (CSIR) (B)/ ISRO and DRDO will
be developing some of the technologies involved
(c)/energy and marine diversity in the
underwater world a big portion of which remains
unexplored even today (D)/ While the mission will
be led by MoES, it would also involve other
departments and organisations like the Defence
Research and Development Organisation, (E).

1. ADCBE

2. ADEBC

3. ACEDB

5. None of the above

Q:2 In the following questions, a statement is
divided into 5 different segments. Part (A) in the
sentence is fixed and other parts may not be in the
correct sequence. You have to rearrange the other
parts of the sentence to make it contextually and
grammatically correct and if the correct option of
the sequence doesn't match any of the given
sequence, mark (5) i.e., 'None of the above' as
your answer.

Marine pollution occurs when harmful effects result
from the entry into the ocean of chemicals,
particles, industrial, agricultural and residential
waste, noise, or the spread of invasive organisms
(A)/ Air pollution is also a contributing factor by
carrying off iron, carbonic acid, nitrogen, silicon,
sulfur, pesticides or dust particles into the ocean
(B)/ Land and air pollution have proven to be
harmful to marine life and its habitats (C)/ The
pollution often comes from nonpoint sources such
as agricultural runoff, wind-blown debris, and dust
(D) / Eighty percent of marine pollution comes
from land (E)

1. ABDEC
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2. ADECB
3. AEDBC
5. None of the above

Q:3 In the following questions, a statement is
divided into 5 different segments. Part (A) in the
sentence is fixed and other parts may not be in the
correct sequence. You have to rearrange the other
parts of the sentence to make it contextually and
grammatically correct and if the correct option of
the sequence doesn't match any of the given
sequence, mark (5) i.e., 'None of the above' as your
answer.

Global Prevention Codlition (GPC) is a global
coalition of United Nations Member States, donors,
civil society organizations which was established in
the year 2017 to support global efforts to
accelerate HIV prevention (A)/ It includes the 25
highest HIV burden countries, UNAIDS Cosponsors,
donors, civil society and private sector
organizations (B)/ agenda among key policy-
makers, funders and programme implementers.
Recently, the Union Minister for Health and Family
Welfare digitally addressed (C)/ the Ministerial
meeting of the Global Prevention Coalition (GPC)
for Human immunodeficiency virus (HIV)
Prevention (D)/ It aims to strengthen and sustain
political commitment for primary prevention by
setting a common (E).

1. ACDEB

2. ABCDE

3. ABECD

5. None of the above

Q:4 In the following questions, a statement is
divided into 5 different segments. Part (A) in the
sentence is fixed and other parts may not be in the
correct sequence. You have to rearrange the other
parts of the sentence to make it contextually and
grammatically correct and if the correct option of
the sequence doesn't match any of the given
sequence, mark (5) i.e., 'None of the above' as your
answer.

Tristan da Cunha is a remote group of volcanic
islands in the south Atlantic Ocean (A)/ Tristan da
Cunha is a British Overseas Territory with its own
constitution (B)/ It is declared as the largest fully
protected marine reserves in the Atlantic Ocean at
687,000 square kilometres (C)/ The mountainous
archipelago Tristan da Cunha is home to tens of
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millions of seabirds and several unique land birds
(D)/ It is the most remote inhabited archipelago in
the world (E)

1. AECDB

2. AEBCD

3. ADBCE

5. None of the above

Q:5 In the following questions, a statement is
divided into 5 different segments. Part (A) in the
sentence is fixed and other parts may not be in the
correct sequence. You have to rearrange the other
parts of the sentence to make it contextually and
grammatically correct and if the correct option of
the sequence doesn't match any of the given
sequence, mark (5) i.e., 'None of the above' as
your answer.

m-RNA Vaccine is a coronavirus vaccine based on
MRNA, once injected into the body, will instruct the
body’s cells to create copies of the spike protein
(A) The mRNA is coded to tell the cells to
recreate the spike protein of the coronavirus SARS-
coV-2, (B)/ been a hindrance sometimes to
create enough virus or viral particles to give in a
vaccine (C)/ that scientists are not growing the
virus in the lab, which has (D) / which causes
Covid-19. The mRNA vaccines have the advantage
().

1. ADECB

2. ACBDE

3. ABCDE

5. None of the above

Q:6 In the following questions, a statement is
divided into 5 different segments. Part (A) in the
sentence is fixed and other parts may not be in the
correct sequence. You have to rearrange the other
parts of the sentence to make it contextually and
grammatically correct and if the correct option of
the sequence doesn't match any of the given
sequence, mark (5) i.e., 'None of the above' as
your answer.

UNESCO Global Geoparks are single, unified
geographical areas where sites and landscapes of
international geological significance (A)/ are
managed with a holistic concept of protection,
education and sustainable development. A
UNESCO Global Geopark uses its geological
heritage, in connection (B)/ A UNESCO Global
Geopark is given this designation for a period of
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four years after (C)/ with all other aspects of the
area’s natural and cultural heritage, to enhance
awareness and understanding of key issues (D)/
which the functioning and quality of each UNESCO
Global Geopark is thoroughly re-examined during
a revalidation process (E).

1. ABCDE

2. ABDCE

3. ACDBE

5. None of the above

Q:7 In the following questions, a statement is
divided into 5 different segments. Part (A) in the
sentence is fixed and other parts may not be in the
correct sequence. You have to rearrange the other
parts of the sentence to make it contextually and
grammatically correct and if the correct option of
the sequence doesn't match any of the given
sequence, mark (5) i.e, 'None of the above’ as your
answer.

Water is the basic necessity of every human being
(A)/ The problem has become so severe that in
many states the groundwater has almost dried up
and people have to depend (B)/ on water supply
from other sources. In addition, water is one of the
most (C)/ misused commodities that we still
waste. It is the central point of our lives but not the
central point of our focus (D)/ But, water scarcity
is a major issue that is rising very rapidly in
modern-day India (g).

1. ABCDE

2. ABDEC

3. ADEBC

5. None of the above

Q:8 In the following question, a statement is
divided into 5 different segments and the parts
may not be in the correct sequence. You have to
rearrange all the parts of the sentence to form a
contextually and grammatically correct sentence.
If the correct option of the sequence doesn't match
any of the given sequences then mark option (5)
i.e., 'None of the above’ as your answer.

Now, imagine a technology that tracks and
provides ease in handling current and future
applications. (A)] An advanced online solution
with artificial intelligence and cloud computing
coupled with its democratic ability making
admissions safe, (B)/ that helps the delivery of
any type of examinations in a secure manner with
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online remote or auto proctored exam solutions.
(C)/ Today, educational institutions are constantly
in search of a powerful solution in time to innovate,
focus, realign and respond to the new normal (D)/
while assessing students online by conducting
secure, scalable, and affordable online entrance
and semester-end examinations (E)

1. DEBCA

2. ACDEB

3. ABEDC

5. No improvement.

Q:9 In the following questions, a statement is
divided into 5 different segments and the parts
may not be in the correct sequence. You have to
rearrange the other parts of the sentence to make
it contextually and grammatically correct and if
the correct option of sequence doesn't match any
of the given sequence mark (5) i.e., 'None of the
above’ as your answer.

The slowdown in economic activities has taken an
increasing toll on government finances (A)/ the
Centre will face a huge shortfall in both direct and
indirect tax collections this year. With non-tax
revenue also likely to be under pressure this year
(B)/ — indications that the government is
exploring other options of raising resources,
including the sale of its stakes in various public
sector companies, are welcome (c)/— while the
pace of contraction in revenue collection appears
to be slowing down — the central government's
gross tax collections were down 37 per centin
May, after contracting by 44 per cent in April —
(D)/ revenue accruing from both dividends and
telecom fee is unlikely to meet budget
expectations (E).

1. ADBCE

2. ACDBE

3. ADBEC

5. None of the Above

Q:10 In the following question, a statement is
divided into 5 different segments. Part (A) in the
sentence is fixed and other parts may not be in the
correct sequence. Rearrange other parts of the
sentence so as to make it contextually and
grammatically correct. If the correct option of
sequence doesn't match with any of the given
options then mark on option 5 i.e.,'None of the
above'.
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From year to year, the evolution of technology is
one of staggering promise and opportunity — as
well as uncertainty. (a) |People are always
surprised by how well and quickly a growing
number of organizations navigate this unclear
path from asking what's next to realizing new
competitive advantages with emerging technology
trends. (B)/The pace of innovation and change is
mind-numbingly fast, yet these intelligent
enterprises are meticulously making sense of
digital advancements and applying them with
tremendous confidence. (C)/And, in most cases,
these changes translate into a range of
opportunities and disruptions across every
industry. (D)/The future may be unknown, but
digital advancement continues to reshape our
world in ways that encourage people to form new
habits, find new ways to work together and
become better human beings. E)

1. BCED

2.ECBD

3. CDEB

5. None of the above
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IAnswer Key
1. (2) 2. (4) 3. (3) 4. (2) 5. (4)
6.(2) 7.(4) 8. (3) 9. (3) 10. (4)

IAnswers and Solutions

Q:1 The correct answer is Option 2, i.e. ADEBC
Taking statement ‘A" under consideration 'D' seems
to show conjunction with it by stating that in a
major development, India is set to launch an
ambitious 'Deep Ocean Mission' which would
explore minerals, energy and marine diversity in
the underwater world a big portion of which
remains unexplored even today.

Statement E' seems to be succeeding D' and after
this 'B' seems to be preceding 'C' as 'C' provides an
ending to the statement.

So, we got a sequence i.e. ADEBC, i.e. In a major
development, India is set to launch an ambitious
'Deep Ocean Mission’ which would explore
minerals, energy and marine diversity in the
underwater world a big portion of which remains
unexplored even today. While the mission will be
led by MoES, it would also involve other
departments and organisations like the Defence
Research and Development Organisation,
Department of Biotechnology, Indian Space
Research Organisation (ISRO), Council for
Scientific and Industrial Research (CSIR). ISRO and
DRDO will be developing some of the technologies
involved.

Q:2 The correct answer is Option 4, i.e. AEBCD
Taking statement ‘A" under consideration 'E' seems
to show conjunction with it by stating about Marine
pollution which occurs when harmful effects result
from the entry into the ocean of chemicals,
particles, industrial, agricultural and residential
waste, noise, or the spread of invasive organisms.
Statement 'B' seems to be succeeding 't and after
this 'C' seems to be preceding 'D' as ‘D' provides an
ending to the statement.

So, we got a sequence i.e. AEBCD, i.e. ' Marine
pollution occurs when harmful effects result from
the entry into the ocean of chemicals, particles,
industrial, agricultural and residential waste, noise,
or the spread of invasive organisms. Eighty
percent of marine pollution comes from land. Air
pollution is also a contributing factor by carrying
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off iron, carbonic acid, nitrogen, silicon, sulfur,
pesticides or dust particles into the ocean. Land
and air pollution have proven to be harmful to
marine life and its habitats. The pollution often
comes from nonpoint sources such as agricultural
runoff, wind-blown debris, and dust.

Q:3 The correct answer is Option 3, i.e. ABECD
Taking statement ‘A" under consideration 'B' seems
to show conjunction with it by stating about Globall
Prevention Coalition (GPC) which is a globall
coalition of United Nations Member States, donors,
civil society organizations which was established in
the year 2017 to support global efforts to
accelerate HIV prevention.

Statement E' seems to be succeeding 'B' and after
this 'C' seems to be preceding 'D' as ‘D' provides an
ending to the statement.

So, we got a sequence i.e. ABECD, i.e. '‘Global
Prevention Coalition (GPC) is a global coalition of
United Nations Member States, donors, civil society
organizations which was established in the year
2017 to support global efforts to accelerate HIV
prevention.lt includes the 25 highest HIV burden
countries, UNAIDS Cosponsors, donors, civil society
and private sector organizations.It aims to
strengthen and sustain political commitment for
primary prevention by setting a common agenda
among key policy-makers, funders and
programme implementers. Recently, the Union
Minister for Health and Family Welfare digitally
addressed the Ministerial meeting of the Global
Prevention Coalition (GPC) for Human
immunodeficiency virus (HIV) Prevention.’

Q:4 The correct answer is Option 2, i.e. AEBCD'
Taking statement ‘A" under consideration 'E' seems
to show conjunction with it by stating about Tristan
da Cunha which is a remote group of volcanic
islands in the south Atlantic Ocean. It is the most
remote inhabited archipelago in the world.
Statement 'B' seems to be succeeding 't and after
this 'C' seems to be preceding 'D' as ‘D' provides an
ending to the statement.

So, we got a sequence i.e. AEBCD, i.e. Tristan da
Cunha is a remote group of volcanic islands in the
south Atlantic Ocean.lt is the most remote
inhabited archipelago in the world.Tristan da
Cunha is a British Overseas Territory with its own
constitution. It is declared as the largest fully
protected marine reserves in the Atlantic Ocean at
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687,000 square kilometres.The mountainous
archipelago Tristan da Cunha is home to tens of
millions of seabirds and several unique land birds.’

Q:5 The correct answer is Option 4, i.e. ABEDC
Taking statement ‘A" under consideration 'B' seems
to show conjunction with it by stating about m-
RNA Vaccine which is a coronavirus vaccine based
on MRNA, once injected into the body, will instruct
the body’s cells to create copies of the spike
protein.

Statement 'E' seems to be succeeding 'B' and after
this 'D’' seems to be preceding 'C' as 'C' provides an
ending to the statement.

So, we got a sequence i.e. ABEDC, i.e. m-RNA
Vaccine is a coronavirus vaccine based on mRNA,
once injected into the body, will instruct the body’s
cells to create copies of the spike protein.The
MRNA is coded to tell the cells to recreate the
spike protein of the coronavirus SARS-CoV-2,
which causes Covid-19. The mRNA vaccines have
the advantage that scientists are not growing the
virus in the lab, which has been a hindrance
sometimes to create enough virus or viral particles
to give in a vaccine!

Q:6 The correct answer is Option 2, i.e. ABDCE
Taking statement ‘A" under consideration 'B' seems
to show conjunction with it by stating about
UNESCO Global Geoparks are single, unified
geographical areas where sites and landscapes of
international geological significance are managed
with a holistic concept of protection, education
and sustainable development.

Statement 'D' seems to be succeeding ‘B’ and after
this 'C' seems to be preceding 'E' as 'E' provides an
ending to the statement.

So, we got a sequence i.e. ABDCE, i.e. UNESCO
Global Geoparks are single, unified geographical
areas where sites and landscapes of international
geological significance are managed with a
holistic concept of protection, education and
sustainable development. A UNESCO Global
Geopark uses its geological heritage, in connection
with all other aspects of the areda’s natural and
cultural heritage, to enhance awareness and
understanding of key issues. A UNESCO Global
Geopark is given this designation for a period of
four years after which the functioning and quality
of each UNESCO Global Geopark is thoroughly re-
examined during a revalidation process.’
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Q:7 The correct answer is Option 4, i.e. AEBCD
Taking statement ‘A" under consideration 'E' seems
to show conjunction with it by stating that water is
the basic necessity of every human being. But,
water scarcity is a major issue that is rising very
rapidly in modern-day India.

Statement ‘B’ seems to be succeeding 't and after
this 'C' seems to be preceding 'D' as ‘D’ provides an
ending to the statement.

So, we got a sequence i.e. AEBCD, i.e. 'Water is the
basic necessity of every human being. But, water
scarcity is a major issue that is rising very rapidly
in modern-day India. The problem has become so
severe that in many states the groundwater has
almost dried up and people have to depend on
water supply from other sources. In addition, water
is one of the most misused commodities that we
still waste. It is the central point of our lives but not
the central point of our focus.’

Q:8 The correct answer is option 3 i.e. ABEDC.
Taking part ‘A’ as fixed, Part ‘B seems to be
succeeding in this specific statement by showing
conjunction. Part 'E' which follows Part 'B' seems to
portray conjunction with the second statement by
stating how students can be safely assessed by
taking up online examinations.

Further, among the remaining parts, part D' seems
to precede 'C' as part 'C' seems to end the
statement which talks about conducting any type
of examinations in a secure manner online while
showing conjunction with part 'D'.

So, we got a sequence i.e. ABEDC and the correct
formation of the statement will be ‘Now, imagine a
technology that tracks and provides ease in
handling current and future applications. An
advanced online solution with artificial intelligence
and cloud computing coupled with its democratic
ability making admissions safe, while assessing
students online by conducting secure, scalable,
and affordable online entrance and semester-end
examinations. Today, educational institutions are
constantly in search of a powerful solution in time
to innovate, focus, realign and respond to the new
normal that helps the delivery of any type of
examinations in a secure manner with online
remote or auto proctored exam solutions’.

Hence, the chosen option is correct.

Q:9 The correct answer is option 3, i.e. ADBEC
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Taking part ‘A’ as fixed, Part 'D' seems to be
succeeding this specific statement by showing
conjunction. Part 'B' seems to portray conjunction
with the second statement by stating about further
information on how the government is exploring
other options of raising resources.

Further, among the remaining parts ‘£ and 'C’, 'E'
seems to precede 'C' as part 'C' seems to end the
statement while showing conjunction with part E.
So,we got a sequence i.e. ADBEC and the correct
formation of the statement will be The slowdown
in economic activities has taken an increasing toll
on government finances. While the pace of
contraction in revenue collection appears to be
slowing down — the central government’s gross
tax collections were down 37 per cent in May, after
contracting by 44 per cent in April — the Centre
will face a huge shortfall in both direct and indirect
tax collections this year. With hon-tax revenue also
likely to be under pressure this year — revenue
accruing from both dividends and telecom fee is
unlikely to meet budget expectations — indications
that the government is exploring other options of
raising resources, including the sale of its stakes in
various public sector companies, are welcome'.

Q:10 The correct answer is option 4 i.e. EDBC

The correct possible order of the sentences is
'EDBC'

Point 'E' seems to be the first sentence after the
opening line because it represents a continuation
with the introduction of the topic 'evolution in
technology' in the first line.

Point 'D' seems to be the second sentence after
as it talks about how technology will stagger
continuously without worrying much about the
future.

Point 'B' represents the third sentence as it lacks of
people's perspective in context to the previous
statement.

The last sentence remains ‘C' which is in a similar
context as that of the previous one.
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